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| RIJET 2 — R £F6ETAI3E (1) |BNEFE2RE K| ES-1.5-2 4/29~6/29 504 3,500
2 |HFAHma—-2R 4f6E8AITE (1) |FRAEEAER RiEE 6/3~8/3 50%| 3,500
3 |fETHm - R Sf6E8A2A (1) |fMMIBTHRELRE HHMEE 6/10~8/10 424 3,500
4  |EEHmI—R £%6E 108278 (A) |[GRESLABEREEE 8/13~10/13 30%&| 3,500
5 |[ERFHa—Xx SR6EIIAI0B (B) |RFTY—2RR—-Vt>59— HEE 8/27~10/27 50&( 3,500
6 |ZWMEI—R (FFE) | ¢f6EI1A~I128 kE q/~11/ 704 0
7 |2<KIEHOa -2 2f6£8A108 (£) |2 IEHRAII 2 =T A RIRE | 5/27~17/217 100&| 3,500
8 |[FHTm2—2X SR6EIIA2E (1) |FETRMT ASRE 8/19~10/19 504&| 3,500
q 2K I — R SRTEIRINE (1) [2KIEHRAII2=T 1 RERE | 10/28~12/28 1004 3,500
10 [&AEHma—X SFTEIRISE (1) |1 —ITRIERLLEKEBEE LHBF [1/46~1/4 40%&| 3,500




